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Read the following instructions carefully hefore you begin to answer the questions.
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11.

IMPORTANT INSTRUCTIONS

This Booklet has a cover (this page) which should not be opened till the invigilator gives signal to open
1t at the commencement of the examination. As soon as the signal is received you should tear the right
side of the booklet cover carefully to open the booklet. Then proceed to answer the questions.

This Grestion Booklet containg 200 questions. Prior to attcmpting to answer the candidates are
requaested to check whether all the questions are there and ensure there are no blank pages in the
question booklet.

Answer all questions. All questions carry equal marks.

You must write your Register Number in the space provided on the top rlght side of this page. Do not
write anvthing else on the Question Booklet.

An Answer Sheet will be supphed to you separately by the Invigilator to mark the answers. You must
write your Name, Register No., Question Booldet S1. No. and other particulars with Bhue or Black Ball
point pén on side 2 of the Answer Sheet provided, faiing which your Answer Sheet will notl he
evaluated.

You will also encede your Register Number, Subject Code, Question Booklel Sl No. etc. with Blue or
Black 1nk Ball point pen i the space provided on the side 2 of the Answer Sheet. If you do not encode
properly or fail to encode the above information, your Answer Sheet will not be evaluated.

Kach guestion comprises four rasponses (A), (B), (C} and (D). You are to select ONLY ONE rorrect
response and mark in your Answer Sheect. In case, you fee] that there are wmore than one correct
response, mark the response which you consider the beat. Tn any case, choose ONLY ONE response for
each guestion. Your total marks will depend on the number of correct responzes marked by you in the
Answer Sheet.

In: Lthe Answer Sheet there are four brackets {4] [B] [C] and [D] against each question. To answer the
questions you are to mark with Ball point pen ONLY ONE bracket of your.choice for each question.
Sclect one response for each question in the Question Booklet and mark in the Answer Sheet. 1f you
mark more than one answer for one guestion, the answer will be treated as wrong. e.g. I for any ttem,
[B] is the correct answer, vou have to mark as follovura :

Al IMIC [

You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall during the examination.
After the examination is concluded. vou must hand over your Answer Sheet to the Invigilator. You are

alluwed to take the Question Booklet with vou only after the Examination is gver.
The shect before the last page of the Question Booklet can be uzed for Rough Work.

Failure to comply with any of the above instructions will render you liable to such action or penalty as
the Commission may decide at their discretion.

For Question No. 101 to 200 in all matters and in cases of doubt, the English Version is final,
Do not tick-mark or mark the answers in the Question booklet.

[TAMIL VERSION OF INSTRUCTIONS IS PROVIDED ON THE BACK COVER OF THIS BOOKLETl
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Select the odd sentence pattern from the following

(AY  He ate the cake T/é This shoe 1s large
(C) She sang a song (I T wrote a letter

Find out the antonyms for the underhned word.

Some people mess up their houses with ever lasting rubbish

L. Lasting 2. Temporary
3. Changing 4. Endless

i, Fternal

(Ay 3, 4andb (B 1, 2and4

(C) 2, 3and>b ' \}Dﬁ‘ 1,2and 3

Change the {ollowing into posilive degree.
This temple is the biggest in India.

(A) This temple 15 as big as that temple

\/Hﬁ No other temple in India is as big as this temple

(Cy This temple 1s very big

(D) Very few temples arc as big as this temple

Identify the compound sentence.
(A) The box 15 too heavy to carry
(B) Owing to illness Rajan did not appear for the examination

(C) Even though he is poor he donates generously

\})ﬁ/ We must eat or we cannot hive

HLE12
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a. Select the correct sulfix Lo frame a new word. Using the given word ‘Purpase’.

{A} able O ity
\/(Q')' tess (D} ness
0. Choose Lhe correct antonym for the underlined word from the options given :

His ways of presentation 1s Unigue.
‘/(K)\ common (B) comparable

(C)  indifferent (D) wrong

7. Which one of the following is a correct sentence?
(A) I had been living here since 1995 \/@3()‘ I have been living here since 1995

(C) T were living here from 1995 (D) T was living here since 1995

8.  Dick out the statement that deesn’t match with the given question tag.
(A) Walt a minute, can vou?
{B) Push the door to the corner. can you?
{C) Get the guide who can help vou, can you?

\9}‘ Have some more rice, can you?

g. Choose the correct synonym of the underlined word.

The rules are made to be enforced.

(A) replied \)Ef applied

(C)  supphied (DY engraved

HLE12 4



10.

L1

Match the following scntences in Column A with the units in Column B and select the corvrecl

answer {rem the codes given below :

Column A Column B
{(a) Idream cvervdav 1. noun
(b) Lifeis a gift 2. wverb
(¢) I write a letter 3. adjeciive
(dy 11 is a2 business letter 4, adverb

(ay () (@ (D
(A) 4 3 2 1

M4123

() 4 2 3 1
Im 1 4 2 3
Comprehension :

“All the world's a stage

And all the men and women merely players

They have their exits and their entrances”

@ :  The word ‘Exir and Entrance’ refer to

(A) Love and Hatred k}BO/ Birth and death
(C) Life and love (DY Dream and reality

Give the suitable order of articles in the blanks of the given passage. Write the covrect code

given below ;

old man said to his daughter, “If servant finds any money
on floor when she cleans room, it is mine.”
(A) The, a, the, a (B) An, the, a, a
(Cy~ An, the, the, the (D) The, a, a, the
5 HLE12
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13. Match the following synonym from Column A with Column B and select the correct answer

from the given codes :

Column A Column B
{a) Lazy 1. Deep admiration
(b)Y Shouted 2. Unwilling to work
{¢) Learn 3. Speak loudly
(d) Respect 4. Acquire knowledge

@) (B @@ (d

Ay 3 1 4

2]

(B)

\/(Ej’

Dy 4 1 3 2

S
.
—
V]

o]
%
.
—

14. Identily the sentence.

A man’s modesty is in inverse proportion to his ignorance.

\/({{) simple (B) compound

(C} complex (DY none

15. Choose the correct antonym for the underlined word from the optiens given :

Einstein published his theory of General Relativity that was confirmed experimentally in

1921,
(A) promised ‘_/(ﬁ} disproved
(C) refused (D) accepted
6. Rahul a lab assistant, a teacher, a book seller and now he a
journalist,
(A) is, was (B) 1s,1s

{C) was, was \}))" has heen, is

HLE12 6 A



17. 1 the instructions but 1 them.

(A)  will read, did not understand (B) will not read, will not understand

\/(Bf\ have read, do not understand (1)) read, has not understood

18. Match the correct noun formi for the verb ‘disturb’.

(A) dislurbing \/Fm disturbance

(C) disturbed (D)  disturbingly

19. Select the correct noun form word from the following verb ‘frighten’.

(A) fighting l),B? fright.

(C) fghts () frightening

20. Change the following verb into noun form Die.

(A) Deadly (B) Dead

(C) Dying . l/(Dj7 Death

21. Fillin the hlank with suitable article.

poor always work hard.

\/é{) The (B) A

{(C) An (D) No article

HLE12
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22_  Find out the appropriate comparative degree for the following sentence.

T'his is the best response.

(A} This and that are better responscs (BY This response is better than Lthat

(C) Thisis a good responsc \/{’m This is a beiter response than any other
23 He— —————ill since Monday and so he ———————— the meeting.
\/(}‘0’\ has been, could not attend (B) 1s, could not attend
(C)  was, cannot attend (D) had been, cannol attend

24.  Comprehension :

Language is the light of mind. So, is the English language is today’s conlext. But ever since,
we have become free, some people have protested against the retention of this language, which

has pros, and cons to it.
Q : Tros and Cons’ means
(A) Dreams and reality (B) Like and dislike

(C) Differences and similarities \/CET Advantages and disadvantages

25. Identify the sentence which dees not contain an adjective.
(A) She is a clever girl {(B) Tiis a pleasant evening

{C) He is an honest man \ﬂ)ﬁ/ [ play chess regularly

26. Find the sentence in which the underlined word is used as a verb.

(A} Thave an English guide (B) Where is the tour gude
\9 Parents guide their ¢children (1) We are 1n a guides camp

HLE12 8 A



27.  Martch the following words given in Column A with their antonyms in Column B and select the

cotrect answer from the codes given below :

Column A Column B
(ay Conflict 1 Empty
(b) Petrified 2. Peaceful
() Tiery 3. Agree
(dy TFull 4. Reassure

(@) () @ @
4y 1 2 3 4

® 4 3 1 2

M 2 1 4 3

28. Identify the compound sentence.
(A) Despite her poverty, Anuja stood first in the examination
(B) Although Anuja is poor she stood first in the examination
(C) When Anuja is poor. She stood first in the examination

\}W Anuja was poor vet she stood first in the examination

29. Identify the incorrect prepositional phrase from the options given below :
There is a car-park.
(A) near the railway station (B) 1in front of the hotel
(Cy for the show-room : \-}D)’\ against this building

30. Fill in the blank with suitable article.

Man, thou art ——  —— wonderful animal.
{A) an \/(B)\ a4
(C) the (D) no article
A 9 : HLE12

[Turn over



31. Change the adjective ‘quiet’ into adverb using the given words.

V((()\ guietly (BY quieten

(C) qguietness (D) quietism

32.  Which one of the following has a correct infinitive?
L(M [ had rather play than work (B I rather play than work

(C) 1 wish to play than work (D) I am playing than working

33. Match the following phrases given in Column A with their meamng in Column B.

Column A
(a) Plenty of
(b)  Worry about
{(¢) Inahalf

(d) Take a vacation

(@ ) © @@
AN 2 1 4 3
® 3 1 2 4
© 4 2 3 1

Dy 1 4 2 3

Column B
1. Regret
2. Alotof
3. Rest

4. In anger

34. She as she
(A) fell, is getling

\/@) fell, was getting

HLE12
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(B) fell, has getting
(D) falls, will be getting

10

1

In B e vime



35. Effective Time Management means accomplishing more in less time. Bewarc of the

importance of Time.

Q : Time Management means
fA)  Time table (B) Wasting time

\)}Z\) Dolng more in less time (D) Whiling away the time

36.  Fill up the blank with suitable prepositions given below as option.

Priya worked ————— midnight.
(A)  until ﬂ) till
(Y on (D) along

37.  Select the incorrect sentence from the following :
(A) TLook! the children are playing (B} He is studying medicine

y‘( The child always crying (D) 1L is getting late

38. Match the underlined words in Column A with the parts of speech in Column B and select the

correct answers from the codes given :

Column A Column B
{a) 1 like apples. 1. Adjective
{(by T like white colour. 2. Adverb
(¢) T watch movies often. 3. Verb
(d) Igo to park daily. 4.  Noun

(@ b)) © @
a4 3 2 1
@ 2 3 1 4

e 8

Dy 3

[a-—
b
b8

[x]
pa—
e

A 11 HLE12
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39. Fill in the blank with the correct ‘Homophone'.

[ don't want to marks.
{Ay Loose (B) loss
wa Losc (1)) Louse
40. 1 my lunch. I uncasy now. [
(&) had had, feel, had to walk (B) will have, felt, had to walk
(C) would have, feel, had to walk \J(/Di have had, feel, have to walk

41. Comprehension :
“Life is Queer with its twists and turns As everyone of us sometime earns”.
Q : The word ‘Queer’ means
(A) Famibar (B Common
y Strange (DY Queen

42. Choose the appropriate active voice for the following :
At what time was the malil delivered?
V(A§ At what time did they deliver the mail?
(B) At what time will they deliver the mail?
() At what tume would they deliver the mail?
(D) At what time have they delivered the mail?

43. Select the correct sequence of prepositions.

I will call your office some time the evening,
LAY at,in ®) on, in
(C) no preposition, In (D) to, in

44.  Tind out the error.

The captain with his team members were in the field.

(A) the captain <) with his team members
\/(Q) were (D) in the field
HLE12 12

to digest 1t.

rETTITERT TN T



45, Fill in the blank with correct ‘Homophone’.

We were surprised to know his

(A) Decent
{(B) Descent

yﬂ Dissent

(D} Descented

46. Select the appropriate active voice for the underlined words

He must be written to.

(A) must be writing
(B)  must written

(C) must have heen writing

\/@ must write

47. Till in the blanks with suitable participle.

Many we were freed from anxiety.
(A) were arriving
(BY had arrived

,\/KJ? having arrived

(D) had been arriving

A 13 HLE12
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48.  Select the correct option to complete the given sentence.

The officer looked

(A)  tothe matter (3) at the matter
\(-C)/'mto the matter (Y in thc matter

49. The light ——————— off while |
{AY gaces, wrote (B) went, am writing
(CV went, will write /(,DT' went, was writing

50. Choose the correct antonym for the underlined word from the options given :
Thcy rried to harness the ultimate secret.

(A) Gather \-/(,Bﬂ Release

(C)y  Win (Ih  Discover

51. Find out the antonyms for the underlined word.
i1is look is Whimsical.
1. Modern 2. Unrealistic
3. Imaginary 4. Rational

5.  Fantastic

(A 1,2, 4and5 VX’B) 1,2 3and b

(Cy 2,3, 4andh () 1,2 3and 4

52 Tdentify the word which is not a verb.

(A} prepares \)Bj/‘ angry

(CYy rises (D) plays

HLE12 14
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54.

Match the following phrases given in Column A with their meaning in Column B.

Column A

(2) Depend on 1.

(by Altend to

{c) TFussover 3.

(d) Nestled up 4.

@) ® (© (@

\/cﬂrf‘3142

By 4 3

[ Re]
—

) 2 1 4 3

D) 3

J
—
e

Which of the following sentence is correct?

,VQKS\ Few people knew the way didn't they?

. f35 Few people knew the way did they?

(C) Few people knew the way don't they?

(D) Few people knew the way do they?

Identify the simple sentence.

Lo

Column B

To pay a lot of attention to something or

somebody

Ta sit or lie down in a warm and protected

place
Rely on

Make much of things of no impertance

(&) If you permit me [ will go away (B) You permit me and 1 will go away

(C) Twill go away if given permission \9/‘ With your permission [ will go away

15
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56, Match the following words given in Column A with their Antonyms in Column B and select

the correct answer from the codes given below :

Column A Column B
(a)  Ornamented - 1.  Darken
{(b) Isolation 2. Limited
(¢} Infinite 3. Unification
(d) Dazzle 1. Plain

(@) () (© (@
& 4 3 2 1
® 1 2 3 4
© 3 4 2 1
(D)

]
ot
=
(]

57. Pick out the sentence with SVIODOA pattern
{A) He gave her alot
(B) Lastnight [ had a bad drcam

(C) Lucy presented the youngest one (puppy) Lo her friend

\)D)' Henrey gave her a pen yesterday

58. Comprehension:

India possesses a variety of forests and natural vegetatlion. We have tropical Evergreen forest

in Western ghats and semi Evergreen forest in Orissa.
Q : Which of the following statement is not true?
\)Xj There are no forests in India
| {B) Orissa is rich in semi Evergreen foresis
(C) Weslern ghats 15 famous for tropical evergreen forests

(D) India is rich in natural vegetation )
HLE12 16 A



60.

61.

63.

Pick out the sentence which does not have a verb.
(A) He drives carefully \/QET My new, pink purse
(C)  He opens the door (D) Don't make noise
Fill in the blank with suitable prepositional phrase given below :
dogs when you enter a stranger’s place.
(A) Aware of '//(,B‘j Beware of
(C) Careful of (D) Assure of
Select the plural form of “Knife”.
(A) Knifes L/é) Knives
(C) Knaifs (D) Knies
The origins of cricket are obscure and there are sevcral theories on how it started. The
shepherds used to play it, with one standing in front of the wicket gate to the sheep fold and
another bowling a stone or something at him and he would have to hit it with his crook.
Here crook means
(A) aslaff (B) a half staff
\}Qf‘ hooked staff (D) 1ron pole
Choose the correct antonym for the underlined word from the options given :

He possessed great jnnate wisdom.

éﬂ,} in born (B) unnatural

\/(,e)/ acquired (D) artificial

A

17 HLE12
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64. Chceose the correct question tag :

There are some late bloomers 1n your group.
{A)  aren’t they? \//P]) aren’t there?

() 1sm'tit? (DY are they?

65 Fill in the blanks with the correct verb choosing from the given words for the noun

‘examination’.

They the knowledge of the candidates.
\yﬂ\ examine (B) examinable

(C) exam (1)) examiner

66. Match the following words given in Column A with their meanings in Column B.

Column A Column B
(a) Inflation 1. Unforgettable
(b} Enhanced 2. TIncreased
(¢) Advent 3. Incrcasec in prices
(d) Indelible 4. Arrival

@ & © (@

B 1 3 4 2
C) 4 1 3 2

> 4 3 P 1

HLE12 18



67.

68.

G9.

Give the suitable order of article in the blanks of the given passage and choose the correct code
given helow :
Rama ecntered shop. pwner recelved him. He looked at

things in the shop. Finally he purchased umbrella.
{A) the, a, a, an \/(B)/ a, the, the, an
(C) a, an, the, an (1Y the, a, an, the
Fill up the blank with suitable preposition given below as options.
Nobody knows the answer Murali.
(A) for L/GS} except
(C) agawnst . (DY  than
ldentify the degree and choose the correct answer.
Tokyo 1s larger than any other cities in the world.
(A) superlative degree \_/(,B’T comparative degree
(C) positive degree (D) noene of these
ldentify the degree and choose the correct answer :
Malacca is the oldest town in Malaysia.
(A) positive degrec (BY comparative degree

\}Q)" supcrlative degree (D) none of these

Give the suitable order of articles in the blanks of the given passage and choose the correct
code given below ¢

Brihadeeswarar temple or big temple as it is commonly
called by natives of Thanjavur is architectural marvel of
immense glory.
(A) The, a, a, the (B) The, an, an the
(C) The, the, a, the \)D’)/ The, the, the, an

19 HLE12
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72. Bl in the blanks with suitable aptions:

He the room and down in the chair.
(A) crossed, sits {B) crosses, sat
(Y cross, sit V@) crossed, sat

73. Match the following :

{a) Stimulate 1. Disbeleve
(b Blurt 2. Curtad
(&)  Impute 3. Couragecus
(d) Protract 4 Conceal

5 Pacify

(@ o & (@

A 5 1 2 3
B s 41 2
© 2 1 4 3

Oy 3 4 3 1

74, Match the statements given in Column A with their question tags in Column B and select the

correct answer from the codes given below

(a) He is good 1. aren’t they?
(b) They are friends 2. is he?

{¢) He is not good 3. am I?

@) Iam notill 4 isn't he?

(@) b)) © @@

a 1 2 4
B 41
C 3 2 1 4
™ 4 3 2 1

sl

]
od
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75.  Fill in the blank with a suitable article.

In olden days, father is considercd as the breadwinner of the family.
’\/ﬂ) no article By a
(C) an (D) the

76.  Find out the active voice from the options given :
(A) It has been tested (B) 1t was yat to be tested

(C) It is said that she 1s arrogant ﬂ It is an interesting book

77.  Match the following words given in Column A with their antonyms in GColumn B, and select

the correct answer from the codes given below :

Column A Column B
(a} Exuberance 1. Benign
(b) Malignant 2. Wisdom
{¢) Mute 3.  Apathy
(d)' Folly 4, Noisy
(@ (&) © (@
&) 3 4 2 1
o™ 3 1 4 2
©) 4 | 1 2 3
(D 2 3 4 1
A 21 | HLE12

[Furn over



78.

78,

a0.

81.

F1ll in the blanks with correct cogent orde;‘ of prepositions given below as options.
- pursuance your letter we are writing today
the Chairinan and posting it to bim along ———— your letter.
(A) in, to, with, of LB i, of, 1o, with
(G- of in, to, with (D} with, of, to, 1n
Identify the sentence which does not contain a noun.
(A) Parents guide their children (B) Always give willingly
\}J'ﬂ\ Boldly, smartly and slowly (D) Students like cricket
Comprchension :
He, who teaches us anything which we know, not before, is undoubtedly to be loved as a
benefactor and he that supplies hife with amusement will be ;:a ressed as a pleasing person.
Q : A 'Benefactor’ is vne
(A)  Who blames others (B) Who aims at his personal gains
{(C) Who takes money M Who teaches unknown facts
Which of the following sentence does not contain an advecb?
(A) He came late A Chennaiis a big city
(C) 1 shall meet you tomorrow (D) I usually drink milk at night
1 1 his address.
(A)  wished, know V(,B') wish, knew
(Y wish, known (1)) am wishing, am knowing

HLE12 : 22 A



83.

84.

86.

Choose the correct antonym for the underlined word from the options given :

All her efforts turned futile,

(A)  useless \/(’EB useful
(C)  harmful (D) peaceful

Match the correct suffix, for the given root word ‘cardio’.

(A) —-ism (B) —ish

(C) —-ment ' \/C}IE)')4 —gram

Find out the antonyms for the underlined word.

Raju had apparently changed his mind.

1.  Obscure 2. Lucid

3. Confused 4. Perplexed
5. Irrational

(A) 2,8 4and] {(B) 3,4and5

(C) 1,2,3and5 \}D)‘ 1,3 4and 5

Select the incorrect sentence from the following sentences.

(A) You met the actor who is the hero of this movie

\/@"3') The bridge was damaged whom they were willing to set right

(Cy I found my key which was missing

(D) Ibought the book which I saw in shop

87. Find out the parts of speech that are used in the underlined words.
1. You dictate the answer
2. Catch me if you can.
3.  He s an honest man.
4. He revealed the truth honestly.
(A) verb, noun and adjective (B) adjective, adverb and noun
\/fC) adverb, verb and adjective (D) noun, verb and adverb
A 23
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88. A knocking was heard suddenly in the silence of the night. Someone was knocking at the
castle gate. On hearing the sudden sound, Macbeth trermebled like a Jeaf He said, “How I wish

the knocking were able to awaken the dead king!”

[dentify the tone of the speaker

v@ remorse (B) =susprion

(C) pessimism (D} none of these

89 Select the correct sentence.
(A) He put out his coat (B) He put in his coat

(C) He put at his coat ‘)IE'X) He put on his coat

90. Match the following words given in Column A with their Antonyms in Column I3, and select

the correct answer from the codes given below :

Column A Column B
(a) TInqusitive 1. Leisurely
(b} Inhale 2. Incurious
(¢) Hastily 3. Simple
(dy Complicated 4. Exhale

@ ® @ (@

B) 1 2 3 4
¢ 3 4 1 2

™ 4 2 3 1

HILE12 24 A



91. Identify the tense form of the underlined word/words :

Neetu has had a bad car erash.
(A) simple present tensc (B) simple past tense

/c_eﬁ present perfect tense (D) present perfect continuous tense
—

92.  Choose the appropriate passive voice for the following sentence.
Where did the police catch the thief?
{A) Where did the thief cateh the police?
(B)  Where will the thicf cateh the police?
(C) Did the police catch the thief?
L)B) Where was the thief caught by the police?

93. il up the blank with suitable preposition.

Leela went into the auditorium mistake.
kab by (B) in
(C) of (D) in case of

94. Mateh the statements in Column A with the question tags in Column B and select the correct
answer from the codes given below :

Column A Column B
(a) The apples aren’t good 1.  aren't they?
(b)  All those boys are boistorous 2. don’t you?
(¢} T am not a fool 3. are they?
() You ke im 4. am [?

(@ ®) © @
Ay 2 3 4 1
® 1 2 3 4
\/(zf‘ 31 4 2
O 4 3 2 1
A 25 HLE12
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95. Fill in the blank with the corrcet ‘Homophone'

He many points in favour of his case.
(Ay sighted \/FB/)‘ cited
(C) sited (D) sitted

96 Change the noun ‘fall’ 1nto verb choosing from the following words.
(A) Fallen (B} Falling
(C) Feeling (17 Fall

97. Select the word with the correct prefix.
(A) antelope {B) antique
MQZ‘V antisocial (D) antonym

94. Comprehension :

To cultivate positive thinking, speak hopefully about everything. Positive thinking creates a
positive atmosphere and produces positive results.

Q : If you want to cultivale positive thinking, you.
(&) speak boldly (B) speak loudly
\}Q)/ think and speak hopefully (D) speak softly

99. - Fill in the blank choasing from the given word the correct ‘verb' for the noun ‘Pay’.

The manager the salary in cash.

(A) paying (B) payable

(C) payes \/U?)'\ paid

100. Find out the meaning for the underlined word.

The postmaster looked at the bov suspiciously.

1.  Careful 2. Doubtful

3. Untrustworthy 4. Distrustful
5. Dubiously

() 1,2 3and4 LA 2.8, 4and5
(C) 2. 3andd4 (M 1,2 3and5

HLE12 26 A



101. Maich the following :

(a)

(b)
()
(d)

Saumeuaasheom aflung Qummigs :

(a)

(b)

(c)

(d)

(A)
(B)
(C)

)

(a)

(LPTERTIT G

(a)

2

State Government

(b)

(b}

1

[

Appeal from High Court

Single integrated judiciary

{c)

(c)

4

Dispute between Union and

Declaring a law unconstitutional

(d)

waSui-wre sirsseflesr résamanser

Q(h 1L STHwe srsangdHE

o Wbl psdadmbs G wpenmuSL

QRHEnLD ymidleneming hdlodnmid

(d)

3

&

27

Judicial review

Original jurisdiclion
High Court

Supreme Court

B8 om spley

(PSHETEID BT HE ETTD

a2 wirBAuenmib

2 Fah&lnenmpn
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102. Consider the following statements :

L Kwashiorkor is a protein deficiency disense

[I. Iwashiorkor is an iron deficiency disease

[I1. Kwashiorkor s a nutritional deficiency disease

Now select the correct answer.

(A) Tandll are correct (B) Il and IIl are correct
VQC/)‘ [ and IIT are correct (D) All three are correct

Sipdsan. eunddlukisamens soial

I &Geuradlgrant, Urss @Gennalrd eu(mid Comi

1. &Genmaflgirsnt, @@mbDLFSS Ganoume eumin Crmo

Il &CGeuneflgrant. sgHemey &aonealred eu(mw CHmu

aflunran aflant .anu.g CobOsH

(A T wpmw 1T edl (B) II wpmw I &M

(©) [ womw [T 0 (D) apeimnn g

103. The younger leaves of a tomato plant in vour garden shows interveinal chlorosis. Select what

supplement you will give?

[

(A) Sulphur \/55 Iron

(C) Copper (D) Molybdenum

e madr GamlLsdlqatar sé&srafl Geguiler Gemd @eawsalld, prblengalld uFamswn @end

srenlIUREDG. SsDE Bruser eraran #58) oefllSTsen?
(A) spssD (B) @umbu
(C) smdpp D) wrelldigenwn
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104. The soil zone 18 considered Lo be a great biological factory because;

{A) agreat varieties of organic compounds are generated in the soil layers
(B) necessary nutrienls are made available to plants from the s0il layers

(Cy so1l layer holds water in storage which i1s used by plants and animals

_\._\Mall of the above

2 fNang QamPbaneaulien sy (p&ElL HBIFLNE e 2H&HE 65 origdlng). oeneald;

(A) e S HaE@sar nagruul L o WbrGunme 2 UGS sueTranrs Sienndlpg

(B) e SiRemsatalmps, SrelThsEhEE Comeuna s5asna Sl sdarmg

(C)  sraurmsEtsheb, sk Eaehdé@n Comauwrear B wa 2 (hésdd GsAsg messuuhSamng

(D) Cubomdw Seoardsid

105. Name the neighbour galaxy of our own Milky Way galaxy.
(A) Antlia (B) Aquila
()  Andromeda (D) Auriga

pug umbeid eflambs mi L sHen DmaennHs edlamnban a1 Sdlem Q.
(A opederd o (B =Egor
g}ﬂ <peen_ GG n (D) = far

L

106. Every vear, May 22 is celebrated as an
\/C@ International Day of Biological Diversity
(B) International Day of Tree Plantation
{C) TInternational Day of Environment Conservation

(D) International Day of Conservation of Natural Resources

gaullanm yamhin Gw 220 Cadlenw Hamona QeredrrRHEGDTo.
(A)  uerenm () 0@ UDBIBEHEHLE HIET

(B) uerarml(h wrb BE madr

(CY  uenarrl () SDNF R0 UTSIGTHEED HreT

(D)  uvanem_(} QWiDHans suendens UTEISNSHEG0D Hrer

A 29 HLE12
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107. Which of the following 1s/arc wrong?

T The Indus peoplie had the knowledge of surveying and geometry
[I. Indus people had the knowledge of Astronomy
III. Botanical aspects were very familiar to the Indus people.

Ay 1 @®) land I

(C) 1,11 and 11! are wrong \Q}/III

1Sl GB16u (@1 ETEU DM 6T Feu D emenay aTg)/ eTeneu?

[ Apglued waser Hles sienael nHm b euenT saflgnd undiu eifleneu’: CubHmlmbaen.
I fpguugs wisgpée auralud sila) Gopss.

UL sreury @uwé scehsenar upll £Bg) wHsERsE beiw Csibmhes.

(Ay 1 B) lopmw 11

© 1, Il wpgyo b seuy (D) I

108. Which of the following Vedic Literature contains the fine specimens of lyric poetry notably

addressed to the Goddess of the Dawn (Usha)?
(A} Chandogya Upanishad \/QB{ Rig Veda Samhita
(C)  Yajur Veda Samhita (I  Atharva Veda Samhita

Spsaar ahs Coug me oflipue Cuar Gseaste (2 agri-amen ubHl Crrédwne Eeasium’ t ms

UL 5558 ITLsenar Qamar (hererg?
(A)  spGsna o uflegd (B M& CGeus s#baublgid

(G wigger Coug sadigid D) @sras Geg sbadsbd
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109. Ketane bodies appear in the urine due to diabetes mellitus during

_\/(Kj\ Ketosis (B} Albuminuria
(C) Creatinurla (Y Myoglobinuria
Erflellan arps Flencwulanr Smfha &G war Gummatsen Canempuin?

(A)  EGLrfleu B eoysSarfer

(Cy  aflurigeyrfiwr () @m@un@@mn&@mﬂunl

110. The GPS1sa
\}A{)/J Satellite based system that can bc used to locate position anywhere on the earth
(B) Satellite based system that can be used to identify the type of forests
(C) System used for measuring earthquake’s magnitude
(D) System used for assessing populatian density
GPS erenuigy
(A) yellenr Copuglle 2erer @Lhsallan semnelgang GrupamasGarasd wpab NG
Qarareg
(B) arfsellan suemasamar QsLbHenssComenssT apeb ihlihg Qamende:
(C)  FAo sfreusaian ifinrangans CeunamssGarataa dpmtd idihgy Glereretd

(D)  waseTLIGAGNT 1 igaian QFUHeMGSEHTETSET W Bidlgad

111. Sarva Shiksha Abhivan (S5SA), one of the major important educational programme is

connected with the

\/(?’\]) Elementary Education (B) Higher Education -

(C) Vocational Education (DY Adult Education

‘sireu Aéagn sGwrar (SSA) erayn qpadluinnen saells Gandtasunang @saLen GETLTLemL wigy

(A) Qan ssssded Hlenew (B) e_wuinblancd sevedl
(Cy Gpmfnsded D)  @pACumT sl

A 31 | HLE12
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112 If the GDP 15 measured at the price prevailing at a point of time, then it1s called

(A) GDP current price (B) GDP market price
{CN\ GDP constant price (DY (A +(B)+ (O
v

e @GOl Corsda Foedamn camalan sgoumila GDP-enni s@relllid, Nengs
Spéaeseuny @I cmd

(A} prlyefeneuies GDP (B) swmsmg sileeuies GDP
(C) Reawrar eleauie GDP (M) Ay + (B) +(C)

113. The product method of measuring GDP involves
{A) incomes generated from the production of goods and services
(B} adding up the value of evervthing produced in the country during the vear
(8] addihg up all expenditures on final output
(D) none of the above

p Lisd) AP g Uuent udley wienelliiu@Gt GDP o aren_sdlwig
(A)  Qummerser wpmbd Geameusailen o pusfuen Curg o (Heunds LD e (hOTETD

\/(,B’p 2 @MU aumegde @b 1511 1960 2 HUSH GFlwlufb eeubleun Gurmealean g enuun
Fal (Baug)

C ey Beandd 2 aver Qunarsailer Bgman Qawedlenen sl (Haug)
(D)  CubQsendien emah e

114. A higher interest rate might inducc households to but businesses to

\,?A)/\ save more, borrow less
{(B) save less, horrow more
(C) save more, horrow more

(1)  save less, borrow less

285 aul g aiForanss e @HbL HEMLUMU STTHEGIENT Qe grewm(HiD. <esmmed
GQgmified Hlmieuenisenar

(A)  vflswren Geblly Hmit (SDeUTs SLaT QUG g6 (Hib
B)  @onoure Gallly oo SIFenTe HLan asThiG56E
(C)  odawrer Caliy wpmbd Siflswman KL eummiEsa

(DY  @enmeuren CaS UL LIDMILD GENDEUTaT &1 60 GUTRIGHSD
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115.

~

I

I1.

111

V.

Consider the fellowing :

CO burns with a blue flame
CO 15 gaod reducing agent and reduces alkali metal oxides

CO 1s toxic because it forms a complex with Haemoglobin in the blood and this complexes

15 300 times more stable than oxy-haermoglobin

CO form complex with Ni at 50° C and decomposition resulting complex gives purc Ni

Which of the statements given above is/are correct?

(A)

&

(&

)

11.

ITL.

Iv.

(A)

(B)

(C)

(D)

All are correct
IT 1s not eorrvect while I, III and IV are correct
[, IT and IIT only corvect

II, III and IV axe correct

CO, Ben plmé s (mes srilug gnguig).
CO srenug) Bss Hnps asalne Hsd. g orr 2 Cars pdmavbamaer &G ns

CO wenug pésgpemamn andibsg @& Qrsssde o dear afGomglamlaear GHaamng
SenanTeys LGNS HIHD. @hHs Swaels Gafwlb, BpEaladRuorgGarmfaar el 300 kg
Blenagsenens BG568)

50° C Qauduflancndldy CO ereiug) Ni o Goipg sienemeyd Gawgansg Hmd. @ FCainih

Sevgaibm Hiv N1-g3 Sio.

Cuharamb g Dnisafed agi/aTaneu Filiuremena. ?
e HGID ERlLITsETen 6

II aflwneng sisver ey [, 111, IV sdtwranepeu
LI, 1T b Gb sfluraneney

1L, 111, IV wl Ho sftumerena.
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116. Reduction of ‘smoke and collection of fuel wood’ to check deforestation is promoted by

(A) Community and Institutional Biogas (CIB)
(B) Institutional Bio-gas Plants (IBP)
(C) National Programme on Improved Chullas (NPIC)
(I} National Project. on Biogas Development (NFBD)
srHsar siflsena sHUUSNETES Lans whmbd flGummer wrss a_adr Casfllgsaa @opiLighara
FHUGSSULL BT enoliL
(A) Community and Institutional Biogas (C1B)
(B) Institutional Bio-gas Plants (1BP)

\}Gﬂ Natiwonal Programme on Improved Chullas (NPIC)

(D) National Project on Biogas Development (NPBD)

117. Which city 15 famous for ‘Kumbh Mela'?
(A)  Ujjain . (BY Thrissur

N\ Hardwar (D) Uttarkhashi

‘@wLGweart Hmelpreilng ysp QubhD BaErD eTg?

(A) 2 mCmBlen (B) Afigmn

(C)  entiggiemi (D) Ig_gréjq&mﬂ
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118. Article 3 authorises the parliament to

L Form a new state
IT.  Incrcasc or diminish the area of any state
III.  Alter the boundarics of any state

IV. Alter the name of any state.

Of these,
(A) I and]Il are correct (B) 1T, IIT and IV are correct
(C) L, Il and IIl are correct \9(] L IL TII and IV arc correct

Sgfaemoliy ol (Article) 3ew d%g} @pdu urrcrrr@msiﬂﬂ)gfﬂgb@ Qendms@  denyd

ailprusGul GHiereTg).

L BB LG brHln enis

I g wrflegdan flaourieu nflaflss sdog geapis
L wrflemsalar adamasaner wrpll ienwés

IV, wrfleomsefia Guwamg wrmfl simwées.

Geupl,
A} T wpgw I sflwurerenes By I Il wppb IV sfwuretee
(©) LI wopgw [T efwrsareneu Dy L IL Il wpmb IV sfivineaene:

119. Which one of the following power is NOT in the concurrent list?

(A) Marriage and divorce (B) Newspapers
\‘5)}’\ Foreign policy (D) Stamp duties

Bpeumeuara bhmer Qorglis gwd sHarrgdd eugnrs fsmyn erg?

(A)  Smoemnd wHmb QS]aJrra;ﬁg_'r,gq (B) wmreflsw
(Cy Qavellypeys Qsmerans (D)  wadarsrar sy
A 35
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120. Find the remainder when 2% is divided by 5
(A) 2 B 3

©) 1 4
2% 5 oy audid Guiry fool @b B4 creren?

(A 2 (By 3
€y 1 4

121. A six digit number 15 formed by repeaving a three digit number. Example 341341 ete. Any

number of this form 1s always divisible by

(Ay 1100 (B) 1011
\/(ﬁ) 1001 (DY 1010

Qb nper Ess cTemaan WwHLGWLD UsssSd rupd am . Glass o o (meurdaluRiding.

2 grremd 341341 cte., @nhs ewUdd 2 MeurssULMIW aramsst erUblUM(PEID &Mh% GTETEMTTE

UGBEEILHD?
(&) 1100 (B) 1011
(Cy 1001 (D) 1010
122. The Universal Serial Bus (USB) standard enables upto devices to be

connected to a Personal Computer.

(A) 130 (B) 128
(C) 150 (D) 127
L A E) smallaaer @enanidis USB Canl_Lin 2 gayib.
{Ay 130 (B) 128

(Cy 130 \}D’j’ 127

123, SVGA supports

(A) 1 million colors ' \/ﬁ. 16 million colors
(Cy 20 million colors (DY 1 tnmllion colors

SVGA eane siear Ndng?
(A)y | Bleedwen cuaimamtmsser (B) 16 Wlevedluienr eudimsmiibisar

(Cy 20106 auemenTBusmet (D) 1 &flawalluesn euabTemriugar
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124. Match List [ with List ] and select the correct answer using the codes given below the lists.

(a)
(b)
(e)
(d)

(&)

(B)

(D)

List]

Resignalion of Congress Ministrics
Sir Stafford Cripps

@Quit India Reseolution

Azad Hind Fauj

(a) {b) () (d)

4 3 1 2
2 1 4 3
4 3 2 1
4 1 2 3

ot

4.

List 11

Singapore

8 August, 1942

Member of Labour Party

1539

auf eng I_an euftens ladlensn Quirpsd e flevssEnéE i Gar@asiulBerer Qe 1SeyrereT eflwimen

eSlanulenang Cgila| Cauw.s.

(a)
(b)
{c)

(d)

(A)
(B)
(€

I

euilens |

sradlis sieplodsrenay uga’iﬂ ellevman
g avLnGuni(h Hfvs
GeuarenemiGan GlauefiGuiry Smorerd
2575 B Uy

(a) (b) (©) (d)

4 3 1 2
2 1 4 3
4 3 2 1
4 1 2 3

[

37

aufleng 11

G ILLT

8 .9‘1,55?0@, 1942
Qamfns & o qnSani

1939
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125. Find out from the following paivs of Sangam Tamsl literature, the one which comes under the
category of Eltuthogal.
(A) Narrina and Naladiyar (B) Silappadikaram and Manimckala:

(Cy  RKurinchippattu and Mullaippattu (1;}’\ Agananuru and Purananuru
A 74

ECip sriul @drer siis s sl Bosduisesdr abs @ Brosdar Cardm . uEd e HEbsrans

EIDEHE o miGh?
(A  pihdladarTiyn Bra wimmD (B)  Sauvudsmapn wefiGrameu b

(€ mhlépdliur _Hib ipeveneim Hib (D)  sismragmib ynpramm

126. Which of the following i1s correctly matched?

L. Baridshahi Kingdom  — Ahmédn agar

JI.  Imadshahi Kingdom - Berar

I{1. Nizamshahi Kingdom - Bijapur

IV.  Adilshahi Kingdom - Bidar

(A) 1 \,PBf\ 11
(Cy Il ' Dy IV

Epsaam_aunmiar sflre Qunasiu_Hareng erg?

I ullgesrd Gurra - SBNEWDE) &

[I.  Gusgerdl Cuprs - g

III. Aeroerd Curys - EVTHTEL

IV, ougavandl Guors — Sorr

4y I B) 1
(Cy TII o)
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127. A railway engine, which is moving towards the platform with a speed of 20 km/hr, blows a

whistle of frequency 320 Hz. The apparent frequency of sound heard by a stationary person on
the platform will be

l/(f(r‘ greater than 320 Hz (B) equal to 320 Hz

129,

(C) zero (D) less than 320 Hz

e Tude ausimg 20 km/h fenaGeusgfs gerCuean v Gursd 320 Hz o@nloussmr Qanaim sage

e dls Qangr (D aumi Gumrg). G wia Rerms Qenan® euraut Galeb Canpn sii6 e -

(A) 320 Hz il sdlawrgio (B) 320 Hz &@ s SyG0
€ sfwurgo (D) 320 Hz efiL Genmeun@Eno

. The source of solar energy is
(A) fission (B) radiation
ﬂﬂ fusion (D) conduction
&Nw yomedler Carpmeimi
(A)  SEmésm Gerey (B) agicsss
() sigmssm Corsens (D) sLs586
Consider the following statements :

Assertion (A) : Insulin lowers the bkod glucose concentration
Reason (R) . Lowered blood glucose concentration stimulates secre'tior_l of glucagon

Now select your answers according to the coding scheme given below ;

V@E()A Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) DBoth (A) and (R) are true and (R) is not the correct explanation of (A)
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

39 HLE12
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Eipdaam sahmsmener seua :

sanm (A) L @emselen @lyssddld sibmemy SeTamal GMDEEng).
snipemin (R) L @enhs QTEs srEsamT ey & @nsGaanar eranm anmTCwrane srés Geddna

Snsremys @RS ppab sfluirar claLmws CorslaHon -
A) (A vogd (B) Greasrmn sl wppin (R) eenug) (A)ar sflurer aflenédso.
(B) (A) wimbd (R) @rar®ib &M womib (R) eremug (A)ér sflwrer eflerdsda.

(Cy  (A) Ml e (R) seumy

(D) (A) geun pennean (R) gl

130. The best known example of waggle dance was cxhibited by Honey bees which was first
cbserved by
(A) Girolami and Bielert 1987 (B} Dixon 1998
(C) Eugave Marais in 1920 L},PI)\ Karl Von Frisch in 1940
Cgefsser uflub erdlen mrenib apgedldy wirgres exdlwiii o g?
(A)  HAwmnd womb euQai 1987 (B) qésen 1998
€y  wdles wrgrev 1920 (I} sand eumen Uiilely 1940
131. Fil in the blank :
Bacteria differ from viruses in being sensitive to
‘a5 Sugars (B Proteins
‘%ﬁﬂ' Tetracyeline ' (1) Fats and oils
Gamg Lt @l Sens Hlolye
ursefwur, earalld @mpg CamuBsmés sTramwd, SiEned &@ (GenpeuTen
aéllienus am_HeuCs.
(A) sréseany | (BY yyso
(C) QLlrprensdafien _ (D) Qamupliy wHmb eramr@lan
HLE12 40 A



132, Which of the following pair is correctly matched?

Choose the correct answer using code given below.

L
I

Bharat Nirman : Shelter and basic scrvice needs of poor

Rajiv Awas Yojana : Support for shelter, redevelopment and rcercation of

housing stock

Jawaharlal Nehru National

Urban Renewal Mission o Building infrastructure and basic amenities
[ only (By Ilonly
IT and ITI anly (D) IlandIlonly

Sipsare @hiuil GLe Genam® sAlwrer Qevartans Garay Qals.

T

II.

11

{A)
(G

Liyg FlmomenT L gepaetier g e Caeu InHmID iy uSlmyiy

praies Speume Gwimgent D @yulimun o silger wnsuantssl LD BLD

LONY! [GRTTERLOLILI G glenenTiinuGmUng)

maugnirara Giiy Gadu Sugient - Qemsfuhiser wogh wumisdlag Cseneiine
&ML LERTTENLOUL| (L) T SBMT SHEnDLIL SaTlar S (HLOmaD
L inl_ (i V(/Ef T o (b

I wpmo 1 wl @b (D) I womn 1wl G

133. An developing economy has the following features.

(4)
(B)
(C)

Low per capita income, chronic unemployment occupational pattern
Population pressure

Only (A)

Spr @& (B)

(5 suentiihgy) GuHLd AumBermgaTDd (6TaumIDd (Gams sy Samar GILIHmIcTerg).

(A)
(B)
©
D)

Gwphs s eldls eumonann, Gorsura Geuameullararn iommib Gsmbla Gurse
LD &&ETAENEDS SN(PSHSLD

(A) w FHw

(A) + (B)
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134. The pH of a soft drink is 3 and that of milk 1s 7. How many times greater is the concentration
of H,O" in soft drink than in milk?

(AY 1times ) 40 times

(Cy 1,000 times ‘/(T}Y 10,000 timcs

am aliuradbfen pH vy 3 wimb urda pH wdoy 7 aafle @efiiuragha HiO™ el

Qadley LmenaeilL rHEMET OL_BIE HESDTS G (HEEID?
A 4 (B) 40

(Cy 1,000 (1Y 10,000

133. Nicotine upon oxidation with chromic acid gives
\)A{ Pyridine-3-carboxylic acid (B) Pyridine-2-carboxylic acid
(C) Pyridine-4-carboxylic acid | (D) Pyridine-2, 3-dicarboxylic acid
GGrmdlE blen LwuaraBgd flaGan_ger Catnsams HseflanGarppn Qalieusre SanLuug
(A) Qe 3-srursdsdls o Bwbn (B} @Reen-Z-snmursfels bled

(C) G ween-4-smursdlads sidlan (M) GMieer-2, 3-ani smirun&fledd oSenb

136. Natural rubber is
(A) Polymer of ethylcne {B) Polymer of butadiene
(C)  Polymer of acetylene \)135 Polymer of 2-methyl butadiene

N HEDE TLILIT 6T60LIS)

(A)  agdlelen ererugan LU (B) Gyt Lmeni uSen eramus e LU

)  ofllqelen eramugeln LeLitg (D) 2-Qugde Gl Lranl_uish sTem Gen Lol

HLE12 42 A



137. What is special about this group?
‘Mahan Mahara), Samir, Brahmachari, Shiraz, Minwalla’
r/@ﬂ Recepient of Shanti Swarup Bhatnagar Award, 2011
(B) Scienlisls involved in Lhe research if Higgs Boson
(C) Scientists involved in space research

(D}  Recepient of Bharat Ratna, 2011
‘inenes wanmrm, s07, (Agwesnd, Sy, Lessumeon’

Engs @opedlen FimuiL| erenen?

(A) 2011 sylb el mETen 7 bE aveueml L EraT 6fl(Bg) Gauatmeumaser
(B) aflgeav Cumenmes «o,rmisfiuid mhuly magd efgerressss

(Cy  ellamauef cyymoslules mHLI_Herer el gresmeilger

() 2011 copib oyaiiig marman wnys yéanr eblng) GubneutasT

138. Mzr. X wants to establish a broadband wireless net connection for his employers spread over a

radius of 30 kms. The wiceless standard he needs to impart to them is

(A) Bluetooth connectivity (B} Infra-red eonnectivity

/{C) Wimax connectivity (D) Wifi connectivity

30 Qb L 0 uru@é Ofe Ceume Qawb geng LaliwretTs@Esda Hmeumemt. X wsatiud e

GaremL. sbdls Gerirldonr suamas Asrilenar awss SpbUipmi. @em SeursEHEE S

Geuarrigil sAS OFT MmN cuanav g6 STLTY SFD eTeman? -

A)  Ues@s Osmmy (B) sis&feuy Ggromy
(Cy  enou Guéeh Ggmiry (D) evoulew QgL
A 43
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139. Consider the following statements :

In the words of Dr. B.R. Ambedkar, Directive principles of state policy are the “Novel feature”
of the Indian Constitution because,

I These principles are in the naturs of general direcetion or guidance 1o the siate

II.  Thev embody the principles or objectives and ideals which union and state governments
must bear in mind while formulating policy and making laws.

Which of the statcments given above 1s/are correct?

(A) Tonly (B Ilonly
\9})’{ Both I and II (D) Neither I nor 1l

[ . - - .o
éEFjQEJQJE';?ﬁﬁ'f L eumGEIL RISeneT Geuel.

Dr. 8. @i, sibGusst sblwgneus ‘s Gpdlé Carlurhsd, Grdu sipsenwinlsr sl g Sl

aamrEsd” e lanamme,
. Eemer B o6 ULl GT g uIng enLobgIETeTe.

I, wsdlu, wrfle sreaser b sl Bgmend, Gandeasamemyl Quhnid Curg, el 2 gelluns
Q.

Baum Dicd creveu situmarensu ?

A T (@ (B) Il

(C) lepmo Ue (D) Tih @aéaner T1ib G dveane

140. The constitution 52" Amendment Act of 1985 was enacted for what purpose
Choose vour answer from the following responses.
(A)  To enhance the salaries of Supreme Court and High Court judges
(B) Mizoram was elevated fo a ‘state’ from union territory
\Lﬁ{\ For cutlawing defection

(D) Creation of National Commission for scheduled tribes

19851b yammigav S2eug) Srfwavenolin) L SHHEsW erghsns Clamamr(h eugliul 1 g7
Filwren eflenL_enw GCaibEAsH&se D

(4) e wrgfHoedmid whobd 2 Febdweann fHudsailen sibuer 2 wite sars

(B)  wefweér GrCssors @@mng WGaTTmd’ rflowns wroplin_ L g

(C) sLé greud gen Gew

(D) wliguwede o arer FrorRanméatear Codll LLenerTuILD SIEL0ES
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141

Item : Food Clothing Education Ilouse rent Others
Expenditure : 300 75 40 75 110

When we represent the data on percentage diagram, the percentage of expenditure on

clothing is
(A) 1833% (B) 6.66%
(Cy 12.5% (D) 50%

2 (Milllg. 0 2806 DEbl. Uiglil] L 6086  GFaallelDanD

sy 300 75 40 75 110

Qar@asuulHeer afeuriiszaear 60upsaTH Ul llarE&sinii ib Apaw eulgalangSne, .enL dsiran

Aaavey eRpaeT () e

(A)  18.33% B 6.66%

\y" 12.5% - (D) 50%

142.

143.

If BHASHA is coded as 154754, BRAIN 1s coded as 13408, AHINSA will be coded as
(A) 458074 (B) 405847
(C) 450847 (D) 450874

BHASHA aawg 154754 erammup BRAIN arewug 13408 erammd @issiun_Lma AHINSA aearug

ETELEUN M (5Bl&HLIL (B ?
(A) 458074 (B) 405847
(C) 450847 _ \/(Dﬁ' 450874

The sum of odd numbers from 1 to 31 1s

(A) 496 LB 256

€ 240 @) 288

1-amBa 31 sueny o erem @navplILeL. aranseflan sal HEDHTMNESH STAT

(A} 496 (B) 256
(C) 240 (D) 288
45 HLE12
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144, The Ministry headed by Rajap in 1937 consisted of the following ministers (Identify the
correct one).

(AY T Prakasam, V.V. Giri, AT Pannirselvam, T.5.8. Rajan
Iy V.V.Giry, T. Prakasam, T.T. Krishnamachari, T.S.5. Rajan
(Cy T.T Krishnamachari, T Prakasam, A1 Pannirselvam, 8. Ramanathan

\9{] T. Prakasam, V.V. Giri, T.8.5 Rajan, 5. Ramanathan

19376 @rremred sepeambuiennsr ewsssaeunild GenapUeuiser enngeisemillmhgat (Ffluirer

Grenend siem_wiremd Cedis).

(A)  wbpatap, ol el A6, g4y vatafTtamauld, 1y.crev eev. Grmagen

(B) ellefl. &ifl, g Srarahd, g.iq. Smagamriondsril, 4. erev.erev. Eymme

(€Y  pa Amagamorésnil, i Ngarsn, o.q. Lanatbsdou, aev. Qrropnser

(D) g SrErsi, of .6l S, 1g.eTev.eTen. @ITTEes, avav. G TR TSEr '

145. The congress passed the ‘Quit India’ Resolution on 8 August, 1942 for the following reasons :
L Failure of the Cripps Mission
1.  Japanese forces moved towards India
[II. Sympathy with Japan
IV.  'To compel the British to accept the demand of Indians for independence
V. To support the Soviet Union.
\/{A] I, II, and IV are correct (By I, II, Il and IV are correct
(Cy I, 1I, IIl and V are correct (DY I II IV and V arc correct

dlemeu(mb srammsEsssts 19420 opan @ wsa{ B preér siidrs ‘GoudtaaruGear QeuefiGun’
Bicrengens Guab g,

L &fie gngis Gpedlen Camaeiiufe s

U @rduranen Guradl suunaflu’'t Len_gst Lnlul L sarme

[IL gguurrenﬂLLh ST W DI@ISTUSEl e

IV, gidCawrsa @ndursala ell@seana Catamsamu apns Qardrer sl_mulu@sselsnans
V. Gereilwg wefluenan gugilugsnans

ay 1L 1L, wpgw Vb &M ®y L IL I womb TVib ef

€ T, 1L 11 opmo Vib & (D) LI IV bhmpn Vib st
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146. Match Last [ with List 11 and select the correct answer using the codes given below the lists.

Last 1
(a}) Gulbadan Begum
(b) Inayat Khan
(¢) Abdul Hamid Lahov
(d) Abul Fazl

(a) (b) (c) (d)

(A) 1 3 2 1
(B) 3 4 1 2
(R :
Vgej 2 3 4 1 |
(D) 3 1 4 2

B

List IT

Padsha Namah
Akbar Namah
Humayun Namah

Shahajahan Namah

aftame luycen auflang Ileflananis Gummsd) eufenssienag S Qer®senn’ Haer Qsre nIallmbsy

sflwrer eflen_ulenans Csfile, Qaws.
sufileng |

(a) @ougrer Gusab

b)  @enussen

()  eiwge andgy Coomsil

(d) ey unse

(a) (b) (c) (d)

(A) 4 3 2 1
(B) 3 4 1 2
(C) 2 3 4 1
(D) 3 1 4 2

47

euflens 11

UM @§IT BALDA
SELT BT
aubl DTy eh BT

QYTRSTET BTLOT

HLE12
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147. Which of the following is correct regarding steci?

(A} Iron with = 0.5% carbon (B)  Tron with < ().25% carbon

(C)  Iron with 0.25 - 2% carbon (D} Iron with 2 —4.5% carbon

EipGamamih sammastier 6 «flenens Gummssin g6 ergl sfluimet snmm?

(A)  Gimoyén > 0.5% sriue (BY @pbyien < 0.25% sriuen

((‘.){,-\ @b e 0.25 — 2% anfuen M) @Qmbyer 2 —4.5% aniuen
/

\/

148, Wimbledon 2012 men's Champion Roger Federer belongs to which countrv?
(A) United States of America (B) Spain
(C) Switzerland (DY Germany
2012—é gyahi(Bam@saneat 69 mAdr e Carlienuen.u tevsnp Cyrey T QLT e7hs Brlanl g Galhgeun

{(A) <=Quwilzar (By  aGillen

\&Zj eeft g Teonba) (D) Qgroa

149. Match the list of provisions and articles which can be amended under Art. 368 and select the

caorrect answer using the code given helow the hsts:

Provisions Article
(a) Election of President 1. Art. 54 and 55
(b  High Court for Union territorics 2. Art. 241

{c) Executive powers of union and states 3.  Art. 73 and 162

(d) Distribution of legislative powers

between union and states 4, Art. 245 to 255

<
-
AN
[ %]

3 4
(B) 2 3 4 1
(&) 4 3 2 1
(D) 2 1 4 3
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gflwe ooy 08 368dr fip Jaeran(h curses Ofaymer wAMWL TAWS Bemolny idamen

sflursg Qummaseyd. Gp@ &0w GarhasiulBerar GHllhsmer Carar(h sllune efleeu

CarpQs().
Widley 2ATF LD v oy )
() ©ywrss smesul GHireay 1. Art. 54 whmn 55

(b)

(c)

(d)

(A)
(B)
(C)
(D)

weswar Cgehisersg 2wifdoapnd 2. Art. 241

0EEW ORI STHlE BTFHETEE,

hlireu s iglamyi 3. Art 73 womw 162

w&HW oDy bl i FEseatianLuddmer

L gganm damy Ly 4. Art 245-6 QumBs 255 suan

(2) (b) (¢) (d)

1 P 3 4
2 3 4 1
4 3 2 1
2 1 4 3

1580. The smallest difference in radiance detected by the satellite sensor is called

(D)

-

Spectral resolution
Spatial resolution
Radiometric resolution

Temporal resolution

WBlg gevall Qeutiugang ser Hluyb QeupassGared Spasam_masafisn aamay?

(&)
(B)
(©)

(D)

Bipwrens Bt enLulld Sroreissd
efleirGlaafl @ig ne@euia Sroraflgse
eurGlaniadl Limiy g Uuentullé Sinoneflsge
Crr g Uue bl Ernreigsa

49 HLE12
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151

Consider the following statements :

Assertion (A) : 41 pereent of the moon surface is never scen [rom the earth.

Reason (R) . The moon rotales and revalves in the same direction as does the earth.
(A) DBoth (A) and .(R) are 1individually true and (R) 1s the correct explanation of (A)

(B) Both (A) and () are individually true but {(K) 18 not a correct explanation of (A)

() (A)is true but (R) is false

(D) (A)is false but (R) is true

EpEanamid eInddl Lhismer sauarl |

gaomy (A) L Blovellan 41 egalls LS Lellulld en'iCumgCo yaul Geudldma.
aryen s (R) L Sler yailian 5108 densulCGaCu s0Mé sipoflang.

(A) (A vimiw (R) @rerGiGw a8, Cogrb (R) aearug (A)eine sflumen eflerdain.

\}BS\ (A) wimw (R) @raw i afl, Guagbd (R) eaug (A)ellh@ sfluimea sllardsawdie,

152

(C) (A o sy (R) soumy

(D) (A) seuy syemnew (R) &l

Fujita scale refers to

(A} the scale to assess the severity of flood

(BR) the scale Lo assess the earthquake scverity

(C) the scale to assess the relative severity and damage of tornado

(D) the scale to assess the ¢yclonic severity

G edlam erem siamey eTen s @M &&lng)?
(4) Geudrargdlen Sallrsens wH A 2 ey emay

(B) Fe p@sssden Sallygmeg wdUd. 2 sapb Sierey

\/(«C)j &ped snnilen Fallrgens Ui Heusb ogamd ghuin nflesub wuABHsa

(DY  Yuslien Sellggens oAl N9 2 Fayb evey
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153, Consider the following statements ;
The aim of proportional representation is
I To eradicate the defects in the ordinary system of election.
II.  To ensure the representation of all the people 1n the legislature.

III. To enable minority represcentation

IV. To ensure the representation of every minority group as well as majority in proportion to

their elecloral strength
Seleet your answers using the coding scheme given below

T and 1T only (BY T, 11 and 11T only
(Cy 11, TIT and IV only (D I I, Il and IV
Eipsnere aurdfuinismer seuaf :
sfleflflg Nr& B &ismes Comssd wanpullar Crnaain,
[ sngnyest Garge (penpnuilen gennamer &G g
[I.  =erangs wasefler Spdfldssiagens sl samuuiao flaarrHisug)

I &mporesen aGuin e Gyl biflagann e (ss

V. &EpumemenoCuimmib, GugnumestemsGumHd S0 eraistentideanmeGa 0

o e a
CathaamiiuiuL 5566 su@auiiaQmat (penm

Epaanr HuBamer DwetLRSE sflumer eflen_amu sT(psy.
(A Twpmo II s G (B) I I womw I w Hib
(Cy 1L T wpgnb IV o Hib (D) 111, I wogb IV

154. Match List I with Last 1L

List 1 last IT
{a) Shiksha 1. Metrics
(b) XKalpa 2. Grammar
(¢} Vyakarna 3. Phonetics
(& Nidhi 4. Astronomy
(e) Chandas 3. Rituals
(H Jyotisha 6.  Chronology

Select the answer from the codes given below :

(a) (b) (c) (d) (e) ()

A 1 3 2 5 1 6
B) 2 1 3 6 5 1
© . 5 3 2 1 6 4
D7 3 5 2 4 1 1
A 51

as iUy

HLE12
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Ll quwer TeLer Ll igud [Ted Quirsgs.

LiCiguwied T
(@) Saagr
(h)y séi
(¢)  efwnrstemm
@ A4
(e)  seTLmen

() Cargéagn

6.

uliguiey II

W Gure
Rossamo
gpeSludliied

GUTSIT LY
FLIBIE (PEnDSET

&nend sanflly qpenm

PG setled miEg sfluner sllen_amw CaThHEsH&EHaD :
(e)

(a) (b) (c) (d)
(A) 1 3 2 5
(B) 2 3 6
(C) 5 3 2 1
) 3 5 2 6

— L

(B)

1585,
adding “Brahmacharya” as the fifth doctrine?
(A) Rishaba
(C) Parsva

Cam_uml el Lisd Qeignm?
(A)
(C)

Magu

UrTEeyl

156. Which is wrongly matched?
(A)

\/QC)A Magnesium — Dry cell

geupnen QunrmssEass sei(H Yy Saayb.

Zaine — Enzymes

(4)
(©)

FISEBIGHLD — GTEeNEAULD

WwéeferSiww - 2 soff L&aEeuLD

HLE12

(3)
(D)

(B)
o)

(B)
(D)

(0
6

4

Which among the following Thirthankaras completed the concept of “Panchama Dharma” by

Arishtanem

\/CB{‘ Mahavira

B0 Qarisstiul L Ersgsmsrieaie, aeur “Ambusmin” aeanp smsms Gerss "LIEEED HT0WM

SifMeigoCr
wanrelgd

Iron — Hemoglobin

Bervllium — X-ray tubes

@y ~ abCum@EGermilen

Quiieballub - X-sfir @Lpmi



157. Match the following :

(a) Article 74 L. Council of Ministers
(b Article 356 2. Amendment Procedure
(¢ Article 370 3. Jammu and Kashmir
(d)  Article 368 4. Emergency

(a) (b) (c) (d)

(R) 2 1 4 3
(© 3 2 1 4
(D) 4 1 3 2
Gumss s
(a) 9574 1. seendld 0 wikdflaer
(b)  olidl 556 2. sgdHwwsnnin ) (S penDE6T
© &9 370 ‘ 3. mubap wHHD srembT
d) o4 368 4. Qpmésy Hoa siedliy
(2) {b) (e) (d)
(A) 1 4 3 2
(B) 2 1 4 3
(©) 3 2 1 4
) 4 1 3 2
A 53 HLE]12
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158 Which position was held by all the following personalities?

1

2]

-

3.

Krishan Kant
Gopal Swarup Pathak

Bairon Siogh Shekbhawat

Choose the correct answer

(A)  Deputy Prime Minister (B) Chatrman of UPSC
\;qu‘ Chairman of Rajya Sabha (D) Chief Justice of India

EpaehtL senareupib eThe Ugellanit cudlssmiser?

1.
2.

3.

[
i

S(hay e Heim_

Gantirdd soeuepls LSS

anuCGrrren flm Cogsreuns

gflurar st en Cor pOEEH&sab.

(&)
(B)
(©
(D)

Fanemt s
waFu uadlwreri Egra <yeneamuid sanaents EaT]
wrbleBiseranauuiler seneusufr

2 &x EAwan seoweno Blid

159, Which onc of the following statement is correct?

(4)
(B)
(€

S

A person can enroll as a voter in more than one constituency
A person can cnroll as a voter in more than one part of constituency
Only fine is imposcd for giving false particulars in voter’s registration

Both fine and imprisonment can be imposed for giving false particulars in voter's
registration

Speu(meaneuD MIET 6T/hd gammi Fiiluimang ?

(A)
(B)
(G
(D)

HLE12

& Ut e Dsm@dlsE Cod aundareryns Lgle) Qs

G BUT e Gargdludan ue Lgdsalld aundarenyns udle) AFLiwemDd

aursgrenyra Ldlellen Glirg sauprer eluTh AErRSHTRO LTS GHTEEEIW SETLEETWN ¢#LW
eurgarearyrg udellan Curgy seunmar eflughd CarRgsra Xugns Gsransun, @f <yar() fHeon

ge_anari b eSlflEslu B

54 A



160.

161.

162.

What is the value of X in Fig. [7?

25 G4 g
15 22 36 9 16 1 4 L) 1
19 X 31
I 11 III
A 4 By 16
(C)y 32 D)y 2
ue b IT-év o drem X-Gar wdlio
25 6d g
16 22 36 9 16 1 4 15 1
49 X 81
I 11 III
A 4 V(Iff 16
{Cy 32 (D) 2

For a set of 500 observations variance is found to be 125. If 25 is added to each observation
and 55 is subtracted then the new variance 1s

(A) 95 (B) 150

(C) 180 Dy 125

ot semaglen 500 serLMEs oerellen wrmir() 125 @, 25 @ sy Seai 55-g spcubeum
Siareflp L aPigsma, ensri YW wmpum_rang)
Ay 95 (By 150

(C) 180 ‘)I})' 125

Two students A and B scored the same average marks in 10 tests and the standard deviation
of marks are 2.5 and 3 respectively for A and B. If the consistency of performance is the
criterion for awarding prize, then

(A) B should get. the prize

; A should get the prize

(CY Both A and B should share the prize equally

(D) DPrize winner cannot be decided. Since average mark is not given

@er() wramanisar A womb B syrsflurs 10 Carefla G wdiuQuedy Qupm Gmbseant. A whmb
B-ulahi il elawssorang 2.5 bppid 3 epeonGu. Seutsailes Hlaoudg saamw Qurmsg uila
auprIEii (e g o elled

(A)  Bufls Qup Gaisss(Bib

B) A ofle Qum Gaues (i

(C)  Auwpmns B uflens swions Gfsg Qarerer Ceuenr{Hin

(D). spraf A 1Quets daTRssLuLrasTad ufls QumLeiar wpy.ey Qabwu Blwers)

55 HLE12

[Turn over



163. Match List I with st IT and select the correct answer using the codes given below the lists.
List ] Lisst 1

(a) New India 1. Lala Lajpat Rai

(b) The People’s Friend

e

Bipin Chandra Pal
{¢) Bante Mataram 3.  Dadabhai Naoron

() Rast Goftar 4. A0 . Hume

(a) {b) (c) (d)

2 4 1 3

R
B 3 1 4 2
() 4 3 2 1
() 2 1 3 4

uigwe fe e ulnue gl Qurmsd. ulgudsEsags &G o dmer DenaLdmppg shwmen

Menteneng Gafley Gauis.

L ig e O lgwié 11
(@) By Gpduir 1. eorer @@us Fmo
(by & Sdyeren SGraTC 2. Qe s AT Limey
() euiGE wrarb -3, sngrumi AmerEgmsdl
(d)y greul Ganl 4. g.g abylb

(a) (b) (¢) (d)

(A 2 4 1 3
(B) 3 1 4 2
(©) 4 3 2 1
(D) 2 1 3 4
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164. Under the leadership of Khan Abdul Ghaffar Khan, popularly known as ‘The Frontier Gandhi
the Pathans organized the society of Khudai Khidmutgar (or servants of god), known

popularly as

(A White shirts (BY Red army

() Red shirts (D)  White army

‘arereney HTHA erar LaHGUDHID srar ilgm &onm &rer gamembudld ugtell uisa ‘@ Dosaion’

(sLeyeflar  Ceausias) aeangib shissoss Osm mélen. @& oA@arargiD renaraey

MU LS ?
(A) Qedrenaid m ani_sar (B) &sduluant.
JQ)’ s & enLger (D) Gleusrameris uenL

165. Match List I with List II and select the correct answer using the codes given below the lists.

Last I List II

Poets Works
(a) WKalidasa 1. Ashtanga Sangrata
(by Vishnu Sarma 2. Surya Siddhanta
(c} Arvabhatta 3. Panchatantra
(d) Vaghbhatta 4. Sakuntalam
Codes

(a) ®) {c) ()

LA 3 2 1

(B) 3 4 1 2
(€) 1 2 3 4
(D) 2 1 4 3

A . 57 HLE12
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Wpse ulgwenauh, @ram_reug ulgweeud guldl @, Epssar. Qsr@lifsn geoanCGuin,
aflwmen eSlen_anw yefl&salb.

uliguwed T L muig 11
YOG & L{ SIS ET
() amefigmeun 1. 2GBTS FdlrHd
(b) cfleiyay smom 2. sMw éfssThsn
(&) eyiuulor 3. L ERFSHH S D
(d) eumsniia 4. snEgBsD
GO (haer
(a) (b} (© (d)
(A) 4 3 2 1
(B) 3 4 1 2
() 1 2 3 4
(D) 2 1 4 3

166. In which Edict did Ashoka declare his faith in Buddha, Dharma and Sanga?
(A Maski Minor Rock Edict (B) Rumminedi Minor Pillar Edict
(C) Sarnath Pillar Edict l}Df Bhabra Minor Raock Edict
oGl lggaTer oips anamufles LUSET, siwb, swsd @eunfldar Lo ouGEraT serapentw
FHUM_eL 3 fledgg erarti?
{A)  wrendhder Ay Genm Kb (b (B)  (rwACpiler m gnam s bioul ()
(C)  srrpraden grem soGal () D)  Lropn fay ey sOGLD

167. Why lL.ord Canning was called as Clemeuncy Canning?
(A) He loved Indians and gave them high posts
\}Bf‘ He issued general pardon to the mutineers
(C) He reduced land tax
(D) He was appointed as the First Viceroy under British Crown

arafin 197y “s(meneTatar Smel ki’ eTen) Hanp&ELILL L gl eTei?

(A)  @ndurseiesn g OgHs saCur® ewrugeilamer eup &g

(B)  Huuni sessdd nHul L siemeremE@hn Dung warell L eupridlngmed
(C)  fHla cuflepws ieu GamEssT6D

M) O gey spsnissdear opsd emeudlynuns 2euT HludlEsnul L g
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168.

169.

In the digestion of carbohydrates, the following sugars are converted to their simpler forms
I Starch — Maltose + Isomaltose

II.  Maltose — Glucose

Il1l. Lactose — Maltose

IV. Sucrose — Glucose + Fructose

Which one is/are correct?

(A) Talone (BR) Il and III

(Cy TL 1T and IV VCBf I, ITand IV
amrGurmanl Crl Qefwresgdlod, Spsargms srésorl un@msan oeupilen aaflu sugeutiserts
wrHmuu@Eearpe.

L sei_mrd — wrel GLrav + pCsmwmi_Grmey

I orél Guiay - @EpsGaray

HL  onrsl Guoaw -+ wral GLmen

IV, &&Qrred - @@ssGaren + Agal Cymen

orgy)/ ereneu M7

(A) Tolho B II vpgw 111
(C) 11, I1I wibagy > IV D)y L Il womw IV

Match List I with List II and select your answer using the codes given below :
List [ List TI
(a) Smallest flower 1. Dischidia rafflesia
(b) Biggest flower 2. Canna
(¢ lrregular flower 3. Phyllanthus
(d) Monochlamydous flower 4,  Wolfia
Codes :
(a) - (b) (€) (d)
(A) 2 1 3 4
B) 1 2 3 4
(C) 3 4 1 2
4 1 2 3
59 HLE12
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uligwer Iom ulgwe I ocan Qurmsd. G Gar(sstul Herer Giivihamas Qaran(y efwrer
sflenLeowd Carpllas® -

ulguwe [ ui g ey 1
(a) el dlaeab Hbluwg 1. gevflig i grellesium
(b) el tiaeyn Gty 2. sdeuranlp
{c) eswafyHo L 3. GaCaenssn
{d)  =iell eu_Lib o (b 2 grem 4. 2 @
@bl ([Hser :

(a) (b) (e (d)

{(A) 2 1 3 4
(B) 1 2 3 4
() 3 4 1 2
(D) 4 ] 2 3

170. A 15 the assertion and R i1s the reason. Examine these two statements carefully and select the
answcr using the code given below :

A

R:

\/(A}

(B)
{®)
(D)

We are able to hear the sound behind the walls or obstacles

When the wavelength of a wave is comparable or less than that of an obstacle, diffraction

happens.

Both A and R are individually true and R is the correct explanation of A
Both A and R arc individually true but R is noi the correct explanation of A
A 1s true; but R is false

A 1s false; but R is true

A aaiug emhy R eerug sirjerd. Yeneumbd Qram(l eurafluibiganeaT Sl B, Slemgmii

@dlLygaean B sd eflenweligsead.

A

(€
(D)

HLE12

seult DM FMLSERHEGEL Cereiit QlmkH b epadica: 15mb Cal Gpnmb

af smoula smaBars sisd Lrmslen o ser soLasd rono Qurplealss HeTelnEs

gowraCGeaur, GanersGair Embata. efledbly eusmeTa] HUBL.

Auwpmib R aunsduriser galssafiGu #fl. R eréiugy Adsnar sflwmen &ryemnnn

A vpmid R eonsfwiiser gallssalCu o amenn. gyemre R eranug) Assmar sryeammd oeea
A sfl, R sflucom

R aifl, gammed A gflwidey

60 A



171. Consider the given Fig. of ocecan currents around North America. Match List [ with List 1 and
select the correct using the code given below lists,

North

America

Last ] List II
Current Number Current Name
(ay T 1.  Alaska
b 1I 2. Gulf stream
(c) 1l 3. California
dy IV 4. Lahrador
(a) (b) (e) (d)
(A) 3 4 2 1
(B) 2 1 3 4
(C) 4 2 3 1
1 3 4 2

\/(D'j‘l

Aarhssuul Gérar suNAwllgsrameus spdluaer sl BGrrl mser uLgong amed) Qardrs.
aufesa | euifena [T Qummsgl, aflwires @HuiH 2-arer udlevad, CaTEAsH66.

>m

,1
v

=3

I

AR Y]

auffleng [ awflang 11

Sy L eram FCrm 1 _gden Quuwr
(ay 1 1. eonsvsr
B 1 2. Fd"U BGrm b
(cy 11 3. e (B i
@ IV 4. SLIGTLTR

(a) (b) {c) (d)
(A) 3 4 2 1
(B) 2 1 3 4
(C) 4 2 3 1
(D) 1 3 4 2
A 61 HLE12
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172. Match the following Neolithic centres of paintings with their districts.

() The Son Valley 1. Raigarh

(b)) Manikpur ' 2. Mirzapur

(¢) Singanpur 3. Central Province
(d} Hoshangabad 4. Uttar Pradesh

Select the answer from the codes given below

(a) (b} (¢) (d)

(B) 1 2 3 4
(T 3 4 1 2
(D) 4 3 2 1

LSFDHSTE 651 aHIDILIRIGENET IBET DTEN L IRSIEHLET Gl LIMhaH)5.

(a) Camen LETeTsETE S, 1. gmbsnd

(b) wmemflay 0 2. Bl ey

{c) Aiusnsnyi 3.  wswu oraTeamb
(d) Capresmisrng 4. 25851 95Cssw

aduiGsel el mig afhunen eflenanw GorrgfHasey -

(a) (b) (c) (d)

(A) 2 4 | 3
B 1 2 3 4
(©) 3 4 1 2
(D) 4 3 2 1
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173. The title ‘Sardar’ was given to Vallabhbhai Patel during the
(A) Salt Satyagraha ‘jﬁj Bardoli Satyagraha

(C) Civil Disobedience Movement (D)

Cabinet Mission arrival
‘ErENM Ty L1 suseumi i GLaidg @E sweflufler Curg efldslin’ g
(A elyssdurdlgsn By uiGgrdl 55 wndlysn

(C)  slL wply Gussbd D)  sr8aC sewést G aumensuian Gurg)

174. Who had sing songs on Nammalwar as God instead of Thirumal?

(A Mathurakavi Alwar (B) Thontaratippodi Alwar

(C) Poikaialwar (D) Thiruppanazhwar

Sorenel urLr o EbmpairanG QFUIEDIE 1 Mg UIsT wri?

\_/Qf@ WIS WMpeu T (B) Gsmam_rig.06lumg uwimpaunt

(C)  Qumisenswmpeuri (D) Amluurarmpemi
175. Match the following :
Quotations Authors
(a) Mathar thammai Izhivu ceyyum 1. Kavimani Thecika Vinayakam Pillai
Matamaiyat Koluthuvom
(b) Kalvi yillatha penkal Kalarnilam 2. Bharathiar
{¢) Mankaiyarai Pixappatharku — Nalla 3. Namakkal Kavinjar
Mathavam Ceithita Vendum
{(d} Tamilar enru Sollata — 4. Bharathidhasan
Thalal nimirnthu Nillata
(a) (b) (c) (d)
(A) 4 1 3 2
(B) 1 3 2 4
G 4 1 3
) 3 2 4 1
A 63 HLE12
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ai@é;&m@g}m Qam_iaamer seumblen oué lwraGerm® Qurapss)s :

(a)

(b}
{c)

(d)

(A)
(B)
(€
(D)

QgrLngen

LAGT Hibenw @ifley Galiuyb wemweanws 1.

sevellulasang Cuam ser ot Bleoihd

wEenELTmNAn i sHCa — Beba

w1560 Galdl Ceramr(Hib

&1 lpeir areny Glameen i, Senew BIAlRmG,

(a) (b) (e)
4 1

1 3 2
2 4 1
3 2 4

176. Match List [ with Tist IT.

(a)
(b)
()
(d)

(A)
B)
ok

(D)

Tast I
Thermal power projects
Dhurvan

Korba

Obra

Talcher

{(a) (b} (c)

1 3 2
1 2 3
1 4 3
1 3 4

U g uwieo Iamssm ul iy wes IT o 6 Qumpigis.

(A)

(€
)

HLE12

Lty I

vi@ren e FL aseir
Bi(pauarn

QAamTum

eUIgm

STV&FT

(a) (b) (©)

[ SRV S )

GlamenssGauri
4.
HleveoL
(d)
2
4
3
1
1.
2.
3.
1.
{d)
4
1
2
2
1.
2.
3.
4
(d)
4
4
2
2
64

&ell@epmaer

sellwenfl CoHe eSBnusd Garenar

urFdwTT

Brindse el @pn

ungdlsmee

List IT

States

Gujarat

Orissa

Uttar Pradesh
Madhya Pradesh

U guey 11

g AW
GRS

efigm

2 87 SrGseain
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177. March the following :

(a)

(b)
(c)

(d)

A
®)
(©)

(D)

Writs

Habeas Corpus

Prohibition

Certriorarn

Quo-warranto

(a) (b) (e) (d)

3 1 4 2
1 2 3 4
2 3 1 1
3 4 2 1

Seireu(heuareuhann ALr(Essis |

{a)

(b)
()

(d)

(A)
(B}
(®
)

BEHUCLTTan e

2, ETQ & Mo T Dy enas

FEOL_ DT

ApHaparm 2 psgD

B&E apenpasiart

(2) (b) (© (d)

3 1 4 2
1 2 3 4
2 3 4 1
3 4 2 1

65

Feature

not available against administrative

authorties
cannot be applied against ministerial office

may be applied by a stranger or a social

worker who need not be an affected person

not available against legislative bodics and

private individuals

SLDEW

flireurs  bsrfsense eodims 'Sr:&uné;\:é;aa
Bueorg)

SIHLDEFNSEMES, eTHrrs ArCurdlss Quiarg
@m b, UTRALEEETETENS TS FHNS

S Teuaymb Camraomd

FLLDED SinuULSE LHNw saflBursenss

adlyre YsCurdlés @uang,

HLE12
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178. Match the following is correct answer.

(a) Manilkodi 1. G. Subramani Iyvar

by  Eluthu 2. Thiru. V1. Ka.
(¢) Sudesamiativan 3. P8 Ramaiha
(dy Nava Sakthi 4. (. 8u. Cellappa
Codes :

(a) (b) (¢} (d)
(A) 1 2 3 4
(B) 4 1 2 3
() 2 3 4 1
(D) 3 4 1 2

uiqwed Ly i’ quie 1T o L6 Qummsgd, &Gy GeriasuulGaret Gollbhseas Qenar® flurar

shlen_enwg Carp&lal.

L iguwad I Ul gwed 1T
(a) veflsCamg 1. & safpwesfhu s
b srghs 2 Bpeds
() &Gasligdlyen 3. A grehv. Trepcwm
(d) peussd 4. fa& QEdeolun
CINICE T

(a) (b) (c) (d)

(A) 1 2 3 4
(B) 4 1 2 3
(®) 2 3 4 1
s 4 1 2
176. Find the odd man out:
{A) Thiruthonda Thokai (B) Thiruthondar Thiruvanthathi
(C) Thiruthondar Puranam (DY  Thiruvilaiyatal Puranam

Sipaarasniiereu et GuImSSLDDenss @GMLARHS.
(A)  dmsOgremgfanms (B) dmsQgram i Hmetsnd
(C)  Arslgmens_t 47rewmd \9—)/'399@GQEDG‘ITUJ[H_.Q")L“}’H'&]}TLB
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180. Match Tist [ with Liast IT and seleet the correct answer using the codes given below the lists.

(a)
(b)
(e)
(d)

(A)
(B)

ﬁ

(D)

List [

Direct Action Day
Interim Government
Mountbatten Plan

Attlee's statement

@ ® (©

3 4 2
3 1 2
3 4 1
4 3 2

(d)

[

[ist 1

20 February, 1947
3 dune, 1947

16 August, 1946

2 September, 1946

aufieng Iz e suflens Ielamarn Quirsd wlmsserss S Qarhssuulfne erglAdmba

silwmar eSien_WSlenans Ggfey GFUs.

(a)
(b)

(d)

(A)

(€

D)

afllens I

CGrilepL & GlswevmsmeT

PlenL_gamen 2

Quoeresm” Gl L e L b

ot Aufer sifladiy
(a) (b) (c)
3 4 2
3 1 2
3 4 1
4 3 2

(d)

67

suflens 11
20 Sugeuf, 1947
3 sy 9ain, 1947

16 eysmev(p, 1946

. 2 Gs0bum, 1946

HLE12
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181 Which one of the following fundamental rights 1s applicable only to citizens and not to
foreigners?

(A) Tquality hefore law
(B) Right to clementary education
() TFreedom to manage religinus affairs

V(B‘). Right of minorities to establish and administer educational institutions
leeuheranaup et @igEHEHHE et g5 Qugd enmey devafiprlsumss o ssl Quons
o flanib 6757
(A)  slLgdig apen #oid
(B) mbu swediaste 2 fapw
(C)  aww Haspeysamer Guweimenbs a&mhSro

(D} sl Bgeuanmanst Fiyed Hraudiasn Snuraemvullermastar o fenin

182. Which of the following provisions came into force even before the commencement of the

Constitution of India?
(A) Fundamental Rights

\gﬂﬂ Citizenship

(Cy  Directive Principles of State Policy

(D) Amendments to the Constitution

Gleraumib behiseafiey GBS ordlwwenioli] e (papnég cubeugneE apatmnis Qe im g neE
CUBEBE) 67517

(A)  Sigluent o fepwser

B)  @nufeo

(C) e Qamaasuier cudam (i GpdlaeT

(D) ewdlumewnliy Simgsriser

HLE12 68 A



Last 1
(a) Cyano bacteria
{(b)  Ammonifying bacteria
(¢) Photosynthetic bacleria

(d) Denitrifying bacleria

Find the choice of correct combination.

(a) (b) (c) (d)

(A) 1 2 4 3
(B) 1 2 3 4
(C) 4 3 2 1

4 3 1 2

g

183. Match the following List I and List IT and select the correct answer.
List IT

Rhodospirillum
Thiocbacillus
Baallus

Nosloc

Epaaaim_ uliqud [ wwd 1l e d Qurmssd, eflwiven slanLmws Cobe s

L g 1
(a) eoswleant ursediLr 1.
(b)  wGuraflunea ra@wd urge wr 2.
() galeCasnsams ursedum 3.
(d) erELrmanar @amméEo Lrsefum 4.
asflirsl Qurmssiu Lass ComhisHésab.
(a) (b} (c) (d)

(A) 1 2 1 3
(B) 1 2 3 4
(©) 4 3 2 1
(D) 4 3 1 2

69

uliguia I1
CrrGLrevepLaflaas

g Gufleeway

urHdeveio

G &

HLE]12
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184

185.

Consider the following pairs :

L. Willy—Willies —  Australia
II.  Typhoons ~  China
IIT. Hurricane - Japan

Which of the pair given above is/are correet?

3
(A) Ionly bgﬁ {and 1I

{Cy Il andlIll (D)

leneu(mid @ enenTaHeneT &(hEHlh CaEners

1. eleell-efavellsy — e Crallwn

11 ersen - Earr
1. epfCaen - sgliLimen

- Com@dlullle @eamsaien erg #?
(4) Tl {ib (B)

©) I opmyo TII (D)

Match the Geological Fra with their periods.

(a) Precambrian 1.
(b) Cenozoic 2.
{¢) Mesozoic 3.
(d) Palaeoznic 4.

(a) (b) {c) (d)

A2 4 1 3

(B) 3 2 4 1
(&) 4 1 3 2
(D) 1 3 2 4

HLE12 70
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II bl Go

Jurassic
Archaen
Silurian

Eocene

I ETINEdm ey o



L6l enUILD) WSRSmET S56Se STemsGarT( GlLim s s,

(a)  Cablflugsg (peasru.d
(b) GCeCamCGamis yan
(c)  BSCaranuls s

(d) Gareglin wysaw

(&) (b) (c)
Ay 2 1 1
B 3 2 1
(C) 4 1 3
(D) 1 3 2

186. Match the following :
(a) Doctor wind
(b)y Cherry blossom
(c) Blood rain

(d) Foehn
(a) (b) (c)
@y 1 3 2
E 2 1 3
© 3 2 4
(D) 4 1 3

Eipaseie:penp sflwireg Gur(msse
" (a)  LrsTaThm

by  Qerf ureend

© @i way

@) Linein

@ B @
(A) 1 3 2
(B) 2 4 3
(9] 3 2 4
D) 4 1 3

(d)

W B = o

(<)

1.

s

W oo

oo

71

LTS
T Gawen |
Sgpmliee
@Cuin$lam

Switzerland

Sahara of Africa
South Italy
Karnataka (India)

sl aFieonbs
sEIT (LA NEST)
ClsneE Qszmad

sIHTL&T (QhAwir)

HLE12
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187, Arrange the following divisions of the Vijayanagar Empire in descending order.

I. Rayjvams
II. Kurrams

III. Valanadus

IV. Nadus
Ay I II0, IV, I B I, -H, v, 111
(C) ILHLIVI : (DY 1, M1, I, IV

emeu(mid eflmwpar Corrdlen Ufle saer @ ne @ sufianaubisn eripg).
I. prEadl ik e
[I.  emypraser

L cumpnas

IV, wmrmser
Vw() LILIV, T - (By L IL 1V, TII
(G IL UL IV, 1 (D I, 1L LIV

188. Poaint out the wrong statement in the following :

Statements :

(A)  Samudra Gupta defeated 12 kingdoms in the South

(B) Tahien’s travel account deals with the conditions of the Gupta Empire
JQ) Skanda Gupta was defeated by the Huns

(D} Kumara Gupta issued silver coins in Western India

Spasar smsgsaafles geumTarens &1 g8 &ramdsse,b.

(& HIHHE

(A) swsdln gust Geanalpfluneld 12 sirssamar Qeuempmi

By  ureflwreflar pmem @Hluy @Us snnyrgusdar Beanawen e edleragHng
(C)  avans @UsT anDas Taend CampaiyssE0uL L Tm

(D} @iy glust CobheE GEduraid Qeudrall pramunisaer aupmidenmt

HLE12 72
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189. The state of matter in their increasing order of entropy is

(A)  Solids, Liquids, Gases, BECs
(B Taguids, Gases, BECs, Solids
(Cy  Gases, Liquids, Solids, BECs

\/(D’ﬁ BECs, Sclids, Liquids, Gasces
Ligp @Qunmedlan Blencaang eranyg. SrmY senen ameullensuliey @ hllog
(A)  dleTwriser, &l aurisdr, aumydser, 9. [@).8.ser
(By Ageurissr, sumysact, 4.@).&.sa1, Hap smniser
(C)  aumyéaen, Hreuriad, famoruad, & 6.4 edr

(DY G.8) 8 s, Sledwramse, Flpouriadt, eumysadr

190. Black Sea is named so because

(A) 1t1s black in colour
‘_/Q’E,{j (:‘sf its rich concentration of micro algae

(C) its, water converts evervthing into black
(D) both (A) and (C)
S(RGL 6 eremmy G QLG g (HUUSDSETET SyamDd
() i somo frsse B s
(B)  mietwr sLiundulen ll@duine Qeflellen snyermons
(©) ipar it sxsvensmmuip 5w ArEHbe wromesd

(D) (=) Db (H) 2w @yess(Rib

191. Match the following :

(a) Maulana Abul Kalam Azad 1. Desh
(b) Mahatma Gandhi 2. The Peoples’ friend
(¢) Allan Octavian Hume 3. The Harijan
(d) Dr. Rajendra Prasad 4. Al Hilal
(aj (b) (c) (&)

(A) 1 2 3 4

LB 4 3 2 1
(®) 2 4 1 3
(D) 3 1 2 4

A . 73 HLE12
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QuITRGE)S -

(a)  Qwmeura HUD SEIND LIS 1.
(h)  wargLr sTEE 2,
(€) oppeven <y sGLetiwen gnwyd 3.
d) cm&im GunCosdly Yrers 4,

(a) (b) (c) (d)

(A) 1 2 3 4
(B} 4 3 2 1
G 2 4 1 3
(D) 3 1 2 4

Coey
OGSl G FetTtich
& emgen

2160 aublaumed

192. Which one of the following is a polar orbiting satellite?

(A) INSAT (B)

GSAT

(C) METSAT yf‘ Resource sat

SLp &L _cummia &y (heull UTESEnLIF SDmLD dewhenassCamar erg)?

(A) INSAT (B)

(G METSAT (D)

193. Thermal power stations are located 1n
\)4(}‘ Tuticorin, Ramagundam, Rajghat (B}
{C) Caddalore, Kota, Tarapur )
ey e Blaney i &an BianohEeTen L (&6
(A)  FNEZEG K., FTOEGETL U, g ar’ (B)

(C)  eLgyrft, Gam Ly, grymiyd (D)

HLE12 74

GSAT

Resource sat

Narora, Kaiga, Pslg'hat

Salem, Pune, Narora

BGHTTT, eDSaHIT, LITEOST

Geavw, LG, mCrmym
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194. Match the following :

{a) Manchester of South India 1. Sivakasi
{(b) Little Japan ) 2. Chenna

{¢) Textile Capital of TamilNadu 3. Commbatore
(dy Detroit of South Asia 4. Karur

(a) (b} {c} (d)

\}ﬁ' 3 1 %\ 2

(B) 3 1 2 4
(©) 1 3 4 2
(D} 2 1 3 4
QuT(BeEs
(a) Ggar QipSluineilern wrenlgen i 1. SeusTd
(b  GLgmiarer 2. (lsarianen
(&) Qpsas gmaparb 3. CamubLggni
(d) Gsvsrdunelien G & ymin. 4. Al
(a) (b} (©) (d)
(A) 3 1 4 2
B) 3 1 2 4
(G} 1 3 4 2
(D) 2 1 3 4
195. Deflation refers to a condition of prices.
\/6{) falling (B) rising
{C) constant (DY moderate

LaTeuTL LD eTemilg) edlaneouslan oTh S Flenaen s Ghls@wn?

(A)  eflener @Gennse B) dlew o wnga
(C)  elena FlevewiuBssanB g (D) Bsoren el 2 uiigd
A 75
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186, Identify the odd one from the group of materials given below :

Glasg, ebonile, copper, rubber

(A) ebanite \/(,B’g? copper

(C) glass _ (DY  rubber

ECp Qamsaiiul @erer Qummlsatlan @upwadnE Gurmbsrseanhenm e fl.
SETEnT Mg, eTCUmenaTt., &, qULm.

(A aGurenani_ (B &maun

(CY  sawemmie (DY  gour

197. Which of the following statements about 'sound’ 1s TRUI?
I. It consists of longitudinal and transverse pressure waves
IT. I‘t travels through vacuum
ITJ. Beats are produced due to interference of sound waves
IV. Intensily of sound 1s mcasured in LHertz
{A) landlIl (By II only
(C) IIT anly M) TITand IV
eellep.us LpBl Spsaer g nmisen sfiuraened araeu?
[ pedlurTarg) GpL _enuser DmmID GNISEMEET o SHTer_g)
II.  gdlurerg Geundls&layb uueasil&En
[l s imasala gnss (5 efmarelanme o amm_meug) 6MD@&EET D@0
IV, g sieme dedeller je@, Danm 6w @0
(A) lTopmwoll (B) Il w (w

RN D) T wpmid TV

HLE12 76
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198. Which of the following compilation of Nalayira Divya DPrabandam (4000 sacred Hymns) is
correctly matched?

(A) First thousand Hymns — Ivarpa
\y)ﬁ Second thousand Hymns — Periya Thirumozhi
{C)  Third thousand Hymns - Thiruvaimozhi

(1 Fourth thousand Hymns — Thirumozhi

Sipaeatn Leun et FraTuly deuwl Grnissdlen erhs Gamgol sfluina Qurpssliul Henerg?
(A psemllfDd UTL®SsT — @uibhur

B Erarimomdon nm Gsea — Guflu £

(C)  pempromlyn uridsst — Smpaumibhomg

(D} mreanaromlnn uridwsst — S iwngl

199. Purath Thooimai Necraan Amaiyum; Agath Thooimai ..

(A) Thavaththaan Varum \/PBT Vaaymaiyan Kaanappadum
(Cy Thoontak Kedum (DY Olivodu Ozhugappadum

LDS S&NUEHD HITET Seiduiih; HESSIIEHD TS Bl H?
Ay seugsires aucnin (B)  ewrwenwwTen el Hibd

(C)  aneisn & G&EHD (D) eefQur® @upsiu®h

200. Which of the following 1s called as ‘Thodar Nilaicheyyul™?
(A) Neethi Ilakkiyam (B) Kttuthokai Noolkal
w Epic Literature (D) Pillaithamizh Ilakkiyvam

‘Qarin flenasd Qewwyer erenn GETLi a1’ Db Qevad euend arg)?

(A 8 Gesdub (B) aL@sCsrens mrevse
(C)  sriufbw @esdud (D)  Qerepanss by GesHud
A 77 HLE12
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2012
Glumg < mdlepb Gurg oifleyb

Sgodéal o Rata Cpyw 1 3 wenfl) [Awngs wHUEH awmaar : 300

demrésiensm uwalsgapean &psaam_ 3 fleumyFamer KeuamBTEL Lghsa b

10.
11.

12,
13.

&S siMlayannser

Gihs efloms Conmuu em Cogeomenw  (@lBs wssdens)s Garamhaeng. Csiey Qsm men GCuredd
eflemEQsm @ en s Hnd@blly sa@sTea|iLreTt sapib suenguiidc Clogennenig Endad sy stamsbanguemug
ALy winer Qxiiems searaneniliunenBmbs Quippey et Goguenuilen euagindams seuanons Sidsss Hnas
Ceauemm(pud, ineniiear Gadredia oms L weliéss Dam thimanD.

Aps eeams AsmEoy 200 Mamsamend Canar(iseng. clomiwvalss Qaririgupen Gdeiamidsregldd
T 69 a@rnds(esih B b GLibmenenaralr erast. e Sud FenLuSe g5 b QeunmssTaTanar 2 @reTataur eTer LIams LD
FHlLTiSg) & Garararayi,

srée el Tas ena@Ein oflen wiallagel. eTaeur ailanTEaesLn W raT fUbluamsear 616N ErL_aney
2 msEReLW Loy aeimaent @BsU LESSE cuawg Gue apaneilld gntlaa Sawbgdtet (L idld B
a(ps Ceuar(Hib. Ceupy erangub elamng QTG e eripss &E.Tg.
e sanats Gilsss amiL e, cllan SSTET Qg o Magheg samsran Lurarrd gelurss sgluBin.
ehlent_ganafler (psa LEFSHD o Ris@ner_w ey eram, Guwi, edamgblam@iiy euflens eramm (S1. No.) whmib
Ga_(erar sfluThgemen Briser er(ps Ceuan(Hib. geufilantes o higeag eilen_S&meT Hadunsgnasii .
o BisEHaLL ufle) eras, Catafardt eram onmb slamsbsngly cuflans srar (Sl No.) pseflueunemd
aflent_ggnaflen EramLmd LEsESEQ BEuSEREGTS Seowbaatar Gl kisalld fob Sweog Emow B
sowen 1w upgiapenars Guanrefleanmd @ildgs arl L CouamHin. Copaar . efluriisener aflen_ggnefld Srisdr
ENS5E STLS sauented 2 ks eflaL sgmar AsdanssrésUu@io, .
apaleungy ellemayd (A), B, (C) wimib (D) eran mrrets; eSlan_seners: Caram (Hareng). Brse ianesation ey aam #flwines
afenL_aminig Gamen (au g 6Slen_sanafley @dlsms am 1. Cauan (B, spemuse Guobu 1 afluner eflenL mem sx(m Cadrailss,
GumliLsTes smleames Grsser s sy imens) eramy senss smeSbnaCen ms eflenomu ellen_sanafiar @igss am
Ceuesmm(pid. enuoguwmiflanin em Gaerellig el gm alleanwgsren Caiplnfiss Gauamib. 2 hs@ranw Gongs
wdl G esraar friseT eflen_sgratla @ilsgs s Hib sfunean etien satien cremeanldamamenul) QUISSE.
eflen_ggrafics gpeuleumm Caenail eremanfip@h erfifias [Al, [B), [C] wibmpd [D] cen prewg efenL s 1 rager o avarar
p0n Gadeise claowefiss Bhaar #MGu i@ smand aflaanw QGF b eflenldm L HEly 1oL (DL LIB& npenaL)
G iamreflanids @ flsge amL Geudan (i, geubleun(h Gaaalls@in e efen_omws Coiplshss edamLggraiic @hles
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